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Peérform the indicated operation. Find the domain using interval notation.
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* Find the inverse of each function. Use proper notation!
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Solve each equation. Show all work!
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Solve each equation by factoring.
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Sketch a graph. Factor completely to find all compleé soliitions.
S e e
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25) flx)=25x* +10x 124x” — 50x - 5; f( 1) 0
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Describe the end behavior of each function. Sketch the general shape if that is helpful.
27) fx)=x —2x% -4 /7 28) £(x) =+ 4x® — 4x
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Sketch the general shape of each function. Nothing fancy, only looking for a very rough sketeh!
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Write a function in factored form that would approximate the given graph.

31) | N - | 32) A
;. AN
< | JANRAR / i
~i0 | -8 e C 3% 1 x I \ 13
\ ' 1
/N
L DI (T >
() “,| [ -
l : 14
i ¥
L G 3 3 L,
Equation:,_ ) (Wrb\j L \{’5\) | Equation: "X(\’ ¥ 4’6} ( XJ('Z-) (&: "“2«) Qﬁ)



Identify the domain of each. Write your domain in interval notation. D pe I \/}
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Find the domain. Write your domain in interval notation. Factor and graph (only the radlcand\
One root has been given when needed. T
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36) f(x)=\/2x4—6x3—15x2—15x—50; f(5)=0
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Maximum & Minimum situations. "

38) Farmer Ted has 1000 ft. of chain-link fence to be used to construct six animal cages, as shown in the |
picture below. e

a. Express the width y as a function of the lengﬂl X.
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b. Express the total enclosed area A of the cages as a S\ction of x.
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c. Find the dimensions that maximize the enclosed area.
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39) Last year the yearbook at Central High co only re sold. A Student survey found that
for every($5 reductlonjn price, 50 more stugents w1ll buy yearbooks What price should be charged
to maximize the revenue from yearbook sales?

(Hint: Total Revenue = (price of books)(number-sold)).—..... .
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Solve each equation. Remember to check for extraneous solutions. ({k ik \
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Identify the holes, vertical asymptotes, and horizontal asymptot
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